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gk |ZEKAEREL |10, 60m M| N= -
7777 #EF L 675 n[N= =
G 2 m | L= 10.389 = | 10.389
FURT-7 T ¢ 150 m | L=]10.389 = | 10.389

AR T 6150 m | L=]10 389 = | 10.389




(525 4) B KB ATROR T3 (Bl 122 TX)

RIREE  DCTP-CX & 150 ¢ 150 + T A& EFQ .
-1
T b otk - ik B tall _ RER
FHE Kotk FHEK Kok
R N ) [ As m [L=]| 19.8 = 19. 80
Bl HE LB |As t | G=] 19.8 | + 240| X 1.53| X 1.10 = 0. 14
A R RS  T As m [A=] 6.92 = 6. 92
EdER LSy T As m® | V=] 0.35 = 0.35
B I L m® | V=] 872 = 8.72
AT HEHI m’ | V= =
BRSO B T w m’ | V=] lL64 = 1.64
B 5 T RC-40 m’® | V=| 6.87 = 6.87
BRI R T WAt m’ | V= =
RSy T m? | V=] 872 = 8.72
A T | A= =
A IE T F/EMRIEEAsLS  t=5em  [A=] 6.92 = 6.92
AR H=2. 00
TRERET KT 1B m [L=| 49 = 4.90




(B Ah4) Bl/AKBEAT SRR TF (FRt/ N2 TIX) 2 A =
ARFEFLE DCTP-GX 6 150 ¢ 150 LA R EQ) -
SO T | WM | WEHULST | T AT BRERL | BCRRL | BMERL st BT AT
& el LTER - - — ~ ™ ~ ™ ~ ™ ~ ™ ~ ™ ~ Y ~ Y ~ Y =
WOOR| HE | WOCR| MR |WOCR| MR |WOCR| MR |WOCR| R |WOCR| BcR |WACR| KR |MACR| SR MR EoR Mk EoR Mk SR
(m/m) m |/ @ @/ @) (6] ) @] @) @ e [ @) [ em] @) [ ) || @) @) )
H=0. 60m
+Ie-1|TE AsH V) 5.00 |2.000 10. 00 0. 550 2.75 10.028 0.14 |0.395 1.98 0. 126 0.63 |0.248 1. 24 0. 395 1.98 0. 550 2.75
H=1. 50m
22| E AsH V) 4.90 [2.000 9.80 [0.850 4. 17 [0.043 0.21 |1.376 6. 74 0.207 1.01 [1.148 5.63 1. 376 6. 74 0. 850 4.17
(Co)
B 19. 80 6.92 0.35 8.72 1.64 6. 87 8.72 6.92




(A 4) BlK B RS T (BRAE/ N FRE2 TIX)

= kk‘i
AFHELE  DCIP-GX ¢ 150 E LIRS to3
A H
Ee Tl R R AL S
35 Bk
H=0. 60m 2B
+To-1|THiE (AsdH V) DCIP-GX ¢ 150 m L= 5.00 5.00
H=1. 50m 2B
+To-2|THiE (AsdH V) DCIP-GX ¢ 150 m L= 4.90 4. 90




(BA34) Bl AR AT Td (PR /N2 T X))

KRFEE  DCIP-GX ¢ 150 BT+ T RHEE N
TITHEE
25 — . HR EHME T#kv EHIE  ETEAE JREIEE | BEBIREIE A IREIE SR FIEDE | AR FRERR | ERE | BRE RA R feaiER
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
+T2-1|\THiE (Asd V) DCIP-GX 150 0. 169 0. 600 0. 550 0. 769 0.719 0. 050 0. 100 0. 269 0. 022 0. 050 0. 450
H=1. 50m
+Te-2|iE (AsdH V) DCIP-GX 150 0. 169 1. 500 0. 850 1. 669 1.619 0. 050 0. 100 0. 269 0. 022 0. 050 1. 350
KELILE SR & PEbR
Im%4 Y o+ THE
- p— . B T#0 RHIE | SO | SRR SRR ALY BRI | AR | RHERE | Rea R (ST R A RV BAR T | (IR
(mm) (m) (m) (m) () () () () () () () (n®) (n”) (n”)
H=0. 60m [Eogil]
+T2-1|\TE (AsdH V) DCIP-GX 150 0. 600 0. 550 2. 000 0. 550 0. 028 0. 395 0. 126 0. 248 0. 395 0. 550
H=1. 50m [Eogil]
+Te-2|TE (AsdH V) DCIP-GX 150 1. 500 0. 850 2. 000 0. 850 0. 043 1. 376 0.207 1. 148 1. 376 0. 850

(Co)




(A5 4) Bl K AR R L (BRAE/ AR 2 LIX)

AR EHERHE

T



(BAF4) BKEA RS T (BRAE/NFAL 2 TIX)

7}(%% SUSd)ZOO d)200 1%“ */" §+ %\: % (bZOO *Zl‘ ‘*/" §+ /;%t %
P R L
THE AR ek - ~HE HAQZ A E RSN B
(1) W@ W66 | @6
Zpes
AT/VASHE A 200A X
FAGX AT AT 1073L X 45. 8% X 1022L A IN=] 1 = 1 N= =
AT/VASHE A 200AX 80A X 164L X 56. 7° X
AT AT 9800L X 56° X 164LX260H | A |N=| 1 = 1 N= =
AT/VASHE A 200A X
FAGX AT AT 5661 X 44. 2° X 1078L A IN=] 1 = 1 N= =
RGP xs |26 OB &£ IN=] 1 = 1 N= =
BWh - Foh(SUS) = N vy
770" JE TR ¢ 75 GF #OIN=| 1 = 1 N= =

TR LA (SUS) ¢ 200AHH @ [N=] 2 = 2 -




(B 4) BLK B AR L (B NP 2 TIX)

M 2L B =5
KERE  SUS ¢ 200 ¢ 200 75 Al HOE -
-
. ; . 25 W i ZEH %
T & 2 INEI RS XA — — - . -
AR gy FHAE HE
sk |frE T SUS200A £ |IN 1 1
KERGIRE L SUS200A £ |IN 1 1
JKAE G R T SUS200A £ |IN 1 1
SEAT R L SUS200A m |L 3.8 3.8
SUSHA FR#: T 200A t=6. 5mm o (N 2 2
TER SR E T ¢ 25 [N 1 1
v afvha-b T SUS200A | N 2 2
AT Ik 2 T SUS200A | N 2 2
Xfpr AL T SUS200A ¥ |IN 4 4
itk |BERROKEMBIMETL  |SCP200A m |[L 13.8 13.8
T SGP200A ke |wW 13.80 30.10 | k g/m 415. 380




(B 4) BLK B AR L (B NP 2 TIX)

= St
7k’:5£14;% SUSQ§2OO (b 200 J—l: :I: E+ E‘ %(1)
11
TH o ok - <k i el AR
A gy R E HE
LT DT As m |L=| 5.06 = 5. 06
RERRICET
EEEDIWTHEAKLEE  |As t G=| 5.06 | + 240 | X 1.53| X 1.10 = 0.04
A2 R T As M |A=]| 1.52 = 1.52
AEHRICET
EhEERAL Sy T As m® | v=| 0.07 = 0.07
AR A I T m® | V=] 1.43 = 1.43
A A m® | V= =
FEAR B T w m® | V=] 0.39 = 0.39
TSR B T RC-40 m® | V=] 0.93 = 0.93
R 5 T A+ m® | V= =
FEAE ALy T m® | V=] 1.43 = 1.43
T m |A= =
R 1A T F/EBKIEAs]S  t=5em | A=]| 1.52 = 1.52
KEME L A | N=| 1.00 = 1. 00




(B 4) B KB AR L (A NPt 2 TIX)

2L B =
+-2
. i 75 B ] EH%
TR 2R Ak - ik Hifir — : S
A gy R E HE
KERA L
ayy)—hL 18-8-25 m’ | v= 1.30 | X 0.60| X 1.20
Pebr — 7 X 0.11| X 0.11] X 1.20
1.30 | X 0.60| X 1.20
Pebr — 7 X 0.11| X 0.11] X 1.20
1.78
TR e /S m |A= (] 1.30 | X 1.20] +0.60 | X 1.20] )X 2
B — T X 0.11| X 0.11] X 2
(] 1.58 | X 1.60| + 0.60 | X 1.60| )X 2
bR — 7 X 0.11| X 0.11] X 2
11.38
LA T RC-40 t=10cm m> | A= 1.50 0.70
+ 1.78 0.70
2.30
avy Y- B L m? | vV=| 1.78 1.78
)= MLSy T Co m’ | v=] 1.78 1.78




75 It oSk s =
;ﬁ«é%@) g%gkf.zﬁ)ux’%’i]:% (FEHE/ NP 2 T X)) 6 200 T OE E #(2) N
WO T | T | msmoas T | s | opme | BPURRE ) BBURRCT ) RBURRL | gerpmsr | mmr fefE T,
LISz a5 T TR - - - - - —
BT SR [BCE| R [RMCE| R [BMIE| MR | HMCE| SR (WO SR |G| BoR |HAACE| KR |HACE) SR |HALE| R |HALE| MR
(m/m) (m) W/m | @) @/ @) [e/m] @) @ e (e @) @] @) @ ) [ @) @ @) [ @)
H=0. 60m
+T1-1|TiE (AsH D) 1.12 ]2.000 2. 24 10.600 0.67 [0.030 0.03 [0. 462 0.52 0. 154 0.17 0. 270 0. 30 0. 462 0.52 0. 600 0.67
H=0. 90m
+T1-2|TiE (AsH V) 1.41 ]2.000 2.82 0. 600 0.85 [0.030 0.04 [0. 642 0.91 0. 154 0.22 [0.450 0.63 0. 642 0.91 0. 600 0. 85
it 5.06 1.52 0.07 1.43 0. 39 0.93 1.43 1.52




(BAF4) BKEA RS T (BRAE/NFAL 2 TIX)

El =
KRG SUS ¢ 200 :I:IEE ﬁ+ﬁ% o
AL}
i il (R TR BT ER ok
H=0. 60m 1E&HR (2)
+T1-1|HiE AsH V) SUS ¢ 200 m |L= 1.12 = 1.12
H=0. 90m 1E&HR (2)
+T1-2[fiE AsH V) SUS ¢ 200 m |L= 1.41 = 1.41




(BA4) Bl AR AT Td (BRI 2 TIX)

ik Wl TR N
TITHEE
25 — . HR FHME T#kv EHIE  ETEAE JREIEE | BEBIREIE A IREIE SR FIEDE | AR FRERR | ERE | BRE RA R feaiER
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
+T1-1|THE (Asd V) SUS 200 0. 220 0. 600 0. 600 0. 820 0.770 0. 050 0. 100 0. 320 0.038 0. 050 0. 450
H=0. 90m
+T1-2|iE (Asd V) SUS 200 0. 220 0. 900 0. 600 1. 120 1.070 0. 050 0. 100 0. 320 0.038 0. 050 0. 750
SKELIL A LE IR A& Pk
Im%4 Y o+ THE
- p— . B T4 TRHIE | SHEEUINT | SHEERRR R SR AL Y| MR | AJ9RED | W | WerHRR (WA BRI A LAY BEET | RIEIR
(mm) (m) (m) (m) () () () () () () () (n®) (n”) (n”)
H=0. 60m (Eogi]
+T1-1|TE (AsdH V) SUS 200 0. 600 0. 600 2. 000 0. 600 0. 030 0. 462 0. 154 0.270 0. 462 0. 600
H=0. 90m (Eogil]
+T1-2|TE (AsdH V) SUS 200 0. 900 0. 600 2. 000 0. 600 0. 030 0. 642 0. 154 0. 450 0. 642 0. 600




(B KB Ak i T (BRAE/ P2 X))

MK E B ERTEE

T



N ] e B (kaKkE)
() B KB L F (BahE/ N2 X))
75 W A ALK
LR FEAR - ~Hik HAL | AR AR ‘ AR ‘
Yk FER: iﬁﬁ FER:
/K3 IFE 2JgE
N zFvn 47 ® 20 m L= 3.90 3.90 3.900
DCIPH
Aoy kAR $ 200X ¢ 20 ] N= 2 2
PESY 1y b ® 20 1 N= 2 2
a7 620 fi N= 2 2
PEZVE ® 20 1
PVY" a4V} 620 & N= 2 D)
Fad B0y 7 W= | ¢ 20 H
HGIFE v )2 H=0. 60m il




JF
s
Tl
_l_.
il
i
s
=
3

(Bfh) B K A as L& (BN TIX)

22 2N RS =X {72 FHARC FHRC
Bt =

DCIPH
N VoA A T $ 200X ¢ 20 & | N= 2 = 2
IS IVZ S T $ 20 m | L= 3.90 = 3.90

SYIEREN IR
PERETF T $ 20 0| N= 2 = 2
(ameIbiS
P kT ¢ 20 2E4n) =]
¢ 20

HoFrakiE L ¢ 20 B

¢ 20
PR E T H=0. 60m T

I7REGA T ¢ 20 EAr | N= 2 = 2




AEE BN T

23

As

Ak -~k

(B Bl K e L (Wi N7 Re2 1K)

HAL

T THEEQ)

(Fa K )

FE W T

Co

15emPL T

15emPL T

s
o

Gk

.00

=
o

R AR T

As

.48

L AR T

Co

.48

BLERRAL ) T

As

Co

PSR I T

.44

BRI T

.33

FEAR B 1T

e

BERRHE R T

i+

3174 Sty LT

A8 1H T

FAEBRIEAS (13)

t=bcm

A8 1R T

)=}

t=10cm




‘ ) \ TILEEEQ) (FEKE)
(B Bl K as L (BRAE/ NP2 LX)
SRR T | AR | MREBULAT | e T AT HETW) | EETER | METEN | et T Bty T fefE A T T
s FAl ETIER pirm | gom | ROCR | RCR | WOLE| KR WACR| MR |NRCR| ROE RGCR| RO | WOLR| KR WACR| MR |NRCR| MR MR R | WOR| KR | BfR| SR
(m/m) (m) @/m | @) |[@/m] @) @] @ | @m] &) | @m @) | Ge/mwm] @) @/ @) | @m | @) @/ @) | e¥/m) | @) (m/m) (m)
H=0. 60m t=bcm
fak-1 i As 4.50 | 2.000 9.00 | 0.550 2.48 10.028 0.13 |0.321 1. 44 0.073 0.33 |0.248 1. 12 0.321 1. 44 0. 550 2.48
t=bcm
Fa7Kk-2 FEWNAs 2. 000 0. 300 0.015 0. 085 0. 084 0. 001 0. 300
t=10cm
FA7K-3 FWNCo 2. 000 0. 300 0. 030 0.070 0. 069 0. 001 0. 300
faK—4 ENGr 0.100 0. 099 0. 001
B Co Co Co Co
) 4.50 |As 9.00 |As 2.48 |As 0.13 1. 44 0.33 1. 12 1. 44 As 2.48




e e T TIEEFHEE  (FBKE)
(AR B KB AR T (B 2 T X)) .
75 W Hif 75 14
x5 il TR - B BAAT R R
B B
H=0. 60m
Ak-1 i As PE ® 20 m | L= 4. 50 = 4. 50
FHK-2 FHNAs PE ¢ 20
FH7K-3 FNCo PE ® 20
FBk—4 FEMNGr PE 6 20




N2 2 oA NN //iﬁ;
B . BB TERERE (BKE)
(Hh) Bl KB AT R T8 (B N2 TIX)
T HEE
. - oo (=g BHME TH0 PEHIE  |EFTEANE| KRR PRHIAE | BEARAEEIR | AN TR ER | BLL AR | B TR EHE YRR | RIEIHIE e\ WA R | Mea R
ks B
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m)
H=0. 60m
FaAk-1 i As PE 20 0.034 0. 600 0. 550 0.634 0. 584 0. 050 0.100 0.134 0. 001 0. 050 0. 450
FHK-2 FHAs PE 20 0.034 0. 300 0. 300 0.334 0. 284 0. 050 0. 001 0. 050 0. 284
#HKk-3 FHCo PE 20 0.034 0. 300 0. 300 0.334 0. 234 0.100 0. 001 0.100 0. 234
FHk—4 EHNGr PE 20 0.034 0. 300 0. 300 0.334 0. 334 0. 001 0. 334
BB EE R & PR
Im4 9 o+ THE
% - . (EEES +#0 PRENE | SHESUIWT | EEESRRALAR ISRy | MERREEE] | A EEH] | BEEG®) | HE @) [EEGEH D | BAE LS| BT R IR +RT
7T B
(mm) (m) (m) (m) (m%) (m®) (m*) (m*) (m®) (m®) (m*) (m*) (m®) (m?) (m)
H=0. 60m ik {1
#RAKk-1 il As PE 20 0. 600 0. 550 2. 000 0. 550 0. 028 0. 321 0.073 0.248 0.321 0. 550
ik {1
Fak-2 FWNAs PE 20 0. 300 0. 300 2.000 0. 300 0.015 0.085 0. 084 0.001 0. 300
[Eagll
FHK-3 FHCo PE 20 0. 300 0. 300 2. 000 0. 300 0. 030 0.070 0. 069 0. 001 0. 300
Fh7Kk-4 FNGr PE 20 0. 300 0. 300 0. 100 0. 099 0.001




fa K CE Bl L&
IV TR, S5 1 F PEA~J=JH i . R PP ) P STR o SV TS TORFINE G 17 N s s .
. FI A4y Ak PE4S Wy u‘/ﬁqom“‘/r F-4 PE90° Vi PEF#Y (m) PVY™ a4y i 11 ke RIBRTI-MESIIE | 0| e LT
K paran paran
% K 7 1:51)?:%D % ﬁm e
a#£g | 2:VP | (mm) N HE
3:Pp WFl As
dH0X| d25X ¢ 20X ¢ 20 ¢ 20
$20 ¢25| $20 $20 ¢ 20 $ 40 ¢ 20 ® 30 X ¢ 13 X ¢ 13 Yt H=0. 3 | H=0. 6
JH b 20 1 200 1.3 B 1.6
HROR= | ¢ 20 1 200 2.6 B 2.9
3.9 4.5
INENIER 3.9
E
EESS




